

1

次の□にあてはまる数をかきましょう。

$$\textcircled{1} (39 + 9) \times 2 = (\square \times 2) + (\square \times 2)$$

$$\textcircled{2} (8 \times 6) + (5 \times 6) = (8 + 5) \times \square$$

$$\textcircled{3} (17 \times 9) - (6 \times 9) = (\square - \square) \times 9$$

$$\textcircled{4} (81 + 6) \times 4 = (81 \times \square) + (6 \times \square)$$

$$\textcircled{5} (100 - 2) \times 3 = (\square \times 3) - (\square \times 3)$$

2

次の□にあてはまる数をかき、つづきの計算をして答えをもとめましょう。

$$\textcircled{1} (76 \times 4) + (14 \times 4)$$

$$= (76 + 14) \times \square$$

$$\textcircled{2} 99 \times 52$$

$$= (\square - 1) \times 52$$

